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(Kronecker M% Basic Goal)
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= (a + .:p(x)>)  + (b + <p(x)>)

= w(a)  A PO)

ty(ab) = (ab) +-  c:p(x)>

= (a + <p(x)>)(b  + <p(x)>)

= w(a)  v/(b)

le4" a + <p(x):,  E F(x]/cp(x)>

qtd a E F 3 w(a)  = a + <p(x)>

:_ w ahiT36~tano~,aau~
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#%h 8.1.2 \<F = R UA’:  f(x) = x2  -I- 1

f(x) b.ii;@h4  R

.  f ( x )  LihWqUWJWdu’~m’  &&I R. .

.  <x2 +  l> dUfl+J~Wflft’l#~~6lvos  R[x]. .

.  R[x]/<x’  +  1 >  LilUbp6181. .

identifying r E R m’aU  I + <x2  + 1 > II.4 R[x]/  <x2  + 1>

R  L?hWAlWhJYlQs  E  =  R(x]/<x’  + 1>

1;  a=x+ <x*+  1 >

BilUatUb4  R[x]/<x’  + I> L71w1.J

(x2+1  = (x + <x* + l>)l + (1 + <x2  + I>)

= (x2  + 1) + <x2  + 1>

Algebraic and transcendental elements



#



8.3 wq'W%JmWlOM~~~~~l~~~  aIH’ih  F

(The irreducible polynomial for Q over F)



1 3 1
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8.4 mm~n~fJlaadlsdl~

(Simple extensions)
c .



1 3 3
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EfWWll~~~~Ultl  E YOJRUIXI F ~~tilPrri~~.~~l~m~~l~~u'lJ~l~~oJ  E

(Simple extension of E) $1 E = F(a) h%lUlJ a E E



1 3 5
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+ 0 I a I+u

0 0 1 u 1 iv

1 I 0 1+n a

a a i+u 0 I

1+u  I + a a 1 0

-T---+ 0 0 0 1 a 0 1  +u 0

I 0 1 a 1+a

a 0 a 1 t (Y 1

l+a 0 t+a 1 a

7kxmYmhnia4iu2m  (1 + a)(1 + a) E zz(a)

LiiO97lfl  p(a) = a*  + a + 1 = 0

(yz  = -a-1=ast

9hii.4  (1 + a)(1 + a) = l+a+a+d

= 1+a2

= l+a+1

= a #
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